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BUILDING CONSTRUCTION

Fruifa w392 (HAftraam 37 : 60
Time allowed : 3 Hours] [Maximum Marks : 60
A () VA-EHATEEAC g d

Note : There are THREE sections in the paper A, B and C.

(i) QFTCE I GEIT1 F THY 10 T F IR JIT | IIF YT T 37 F1 8 0d
& 10 Y77 FGHAE 9FR F T % 8 |

Answer all the 10 parts of the question No. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.

(i) QT F 8 ¥ F 8 54T 6 oA & I AT | G AF 5 3 3% F1 8 0
§7F1 5 oI%T / 50 W&l 4 I T |

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) QR F 6 5N 4 @ 4 5 & I DA | TAF T 8 3% F1 8 0
g7H7 15 3T / 150 &gl 4 a7 g |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

(v) TeF G % G 9] H HIER TF G FT BT |
Solve all the questions of a section consecutively together.
(vi) a2t wrTan 4 31 87 %1 et # i Jas & A E |

Only English version is valid in case of difference in both the languages.

YA -
Section - A
1L () Sfes & d ), dfive ke (102 . 4) <1 =Fan T B 2 :
In horizontal DPC, minimum thickness of cement concrete (1 : 2 : 4) is :
(a) 2cm (b) 4cm
(c) 6cm (d) 8cm

E (10f 4) P.T.O.
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(i)

(iii)

(iv)

(v)

(vi)

(vii)

R T waa dfEd % U W gaEl i e qyEl | afiga a2
In how many types the buildings are classified by National Building Code of India ?

(a) 7 (by 8

() 9 (d 10

fope W % ==y 1 Ret GuE w9 & faafa @ & 7

(a) HWHEH (b) ATHw &y

(c) ?=aY (d) 3femsy

In which type of bond, the headers are distributed evenly ?
(a) Stretcher bond (b) Flemish bond
(c) Header bond (d) English bond
fa &t e e @1 g femn

(a) (b) &

(c) R (d) ¥ A HE T
Formula to calculate deapth of foundation was given by
(a) Rankine (b) Newton

(c) Boyler (d) None of these
qude wd 1 o 9 arell Ragdhl HEerd 2

(a) BdUIHETH (b) @a faehi

(c) oty fagh (d) @

Window in horizontal roof is called as —

(a) Lantern window (b) Dormer window
(c) Louvered window (d) Sky light window
TrErEl & =gan Farg B =fae

Minimum height of doors should be

(@ 2.1m (b) 1.8m

(¢) 1.5m | (d 22m

TG TR i HieTs 2l 2

Normally the thickness of plaster is —

(a) 10mm (b) 12mm

(¢) 6mm (d) 5mm
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(viii) 91 U= %1 92¢H 2

(a) ATER (b) dESH

(c) dvi® (d) U T+t
Constituent of oil plant is -

(a) Base (b) Vehicle

(c) Pigment (d) All of above

(ix) Teeft €eft ofes (flight) ® Sfet it ==an @@ &+ =ifze
Minimum steps in a straight flight should be -
(a) 2 (b)y 12
(c) 5 (d) ¥3

(x) UHRERH, 2 hn fewr e

(a) 20x10cm (b) 20x20cm
(¢) 10x10cm (d) o7 | &I T
In a stretcher course, size of brick we see is —
(a) 20x10cm (b) 20x20cm
(¢c) 10x10cm (d) None of these
JaH — &t
Section - B

2. e F Iy i fafa |

What are functions of foundation ?

3. i atet it o= I 2 7
What is the purpose of cavity wall ?

4, TT3e T H TR B FHATST |
Why site clearance is carried out ?

s e e @1 v fe feafe | femen s 2 7

In which condition raft foundation is provided ?

6. oo 1 2fEm @ 39 w1 EHFA B 7

What do you understand by dressing of stones ?
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10.

11.

12.

13.

14.

15.

geept b1 Famé & foqu fafiya weem & am fafan |

Write the names of various types of stone masonry.

¥ ) Fard | @ o T fafim susn & am fafeo |

Write the name of various tools used in brick masonry.

av e (fameat) earst Fal 39§ de A # 7
Where are the collapsible doors used ?

Qo - di
Section - C
R FE % Ievdl ! fafEu |

Write the objectives of Plastering

Sreeft ¥t 35 it 7 e, |

What are requirements of good staircase ?

2t et & Igaifiran =t afam aagmsd |

Explain the use of Dormer window with a sketch.

szt 1 auTd | 39 AT Sal fhar A @ 7

Explain underpinning and its uses.

geer a1 2 <1 faaré & qerrere steraa $if |

Write a comparative study between stone and brick masonry.

afe arelt drar &1 w3 wal foan S 2 ?
Write the uses of partition wall.
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